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PART A: Vocabulary

| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each

sentence. Then mark your answer sheet.

1- Your new spokesperson is very --—------ and clearly comfortable speaking in front of
large audiences.
1) Ilﬂp.}.llﬂnl 2) willtul 3) voluble 4) modish

2- That ring is made from an -----—--- of minerals; if it were pure gold it would never hold
its shape.
1) occurrence 2) elaboration 3) intervention 4) amalgam

3- Fortunately, the parliament —-—— the new law that would prohibit companies from
discriminating according to race in their hiring practices.
1) abridged 2) ratified 3) magnitied 4) persuaded

4- The teacher did not appreciate the student's -———- — and gave him detention.
1) sarcasm 2) advent 3) blunder 4) reverie

5- The police have not vet been able to find the missing child; to all of the searchers, the
child's location is still a great --——--— .

1) fallacy 2) enigma 3) remorse 4) sympathy

6- I really feel sad to say that we are now witnessing environmental destruction on an
————— scale.
1) implicit 2) inadvertent 3) articulated 4) unprecedented

7- Ted was severely --------- by his colleagues for his use of offensive language when
addressing the guests.
1) deviated 2) castigated 3) resigned 4) hardened

8- As shrinking military budgets add to economic woes, arms manufacturers are -—----—-
secking to expand their markets.
1) nocturnally 2) equivocally 3) indecisively 4) aggressively

9- Much to my ----—--- , | should confess that we don’t have a good indication that women
are actually taking better care of themselves today.
1) indifference 2) verification 3) chagrin 4) jubilance

10- It is to be remembered that living in a —--—-—- country is no guarantee vou will

necessarily live a long life.

1) prosperous 2) conceptual 3) conceivable 4) long-winded

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best

fits each space. Then mark your answer sheet.

The human question 1s the big one. (11) - on humans are very thin. Most human
populations that are forced to survive on low-calorie diets are also malnourished and are as
likely (12) =-==-=--- from vitamin and mineral deficiencies. (13) -------—- is on the Japanese
island of Okinawa. Walford notes: “The Okinawans have about (14) --------- the calorie intake
of the rest of Japan. They eat mainly fish and vegetables. They have as much as 40 times the
incidence of people (15) --—----- 100. They have less diabetes. tumors and so forth than the rest
of Japan.”
11- 1) The data exist 2) The data whose existence

3) Existing data that are 4) The existing data
12- 1) not to die as prematurely 2) as not to die prematurely

3) so not to prematurely die 4) not to die prematurely as
13- 1) Only one exception to know 2) The only exception to know

3) The only known exception 4) One exception is only known



14- 1) 70 percent of 2) a percentage of 70
3) 70 percent 4) 70 of the percentage
15- 1) in 2) for 3) over 4) with

PART C: Reading Comprehension:

Directions: Read the following three passages and answer the questions by choosing the

best choice (1), (2), (3), or (4) and then mark the correct choice on your answer sheet.

PASSAGE I:

Reflection is the change in direction of a wave at an interface between two dissimilar media
such that the wave returns into the medium from which it originated. The most common
example of this is light waves reflecting from a mirror, but sound and water waves can also be
reflected. The law of reflection states that the angle of incidence is equal to the angle of
reflection. Reflection may occur whenever a wave travels from a medium of a given refractive
index to another medium with a different index. A certain fraction of the light is reflected from
the interface and the remainder is refracted. However. when the wave is moving from a dense
medium into one less dense. that is the refractive index of the first is greater than the second. a
critical angle exists which will create a phenomenon known as total internal reflection. In this
situation.all of the wave incident at an angle greater than the critical angle is reflected. When a
wave reflects off a more dense material (higher refractive index) than that from which it
originated. it undergoes a 180° phase change. In contrast. a less dense. lower refractive index
material will reflect light in phase. Fiber optics makes use of the phenomenon of total internal
reflection. The light traveling through a fiber reflects off the walls at angles greater than the
critical angle and thus keeps the wave confined to the narrow fiber.

16- Which of the following is the best title for the passage?

1) Fiber Optics 2) Light Reflection
3) Application of Mirrors 4) Sound Waves
17- What does the pronoun *it” in line 2 refer to?
1) Wave 2) Medium 3) Interface 4) Direction

18- Which of the following is true when a wave is moving from a dense medium into a
less dense one?
1) The law of reflection will be violated.
2) The angle of incidence will be equal to the angle of refraction.
3) No part of the light will be refracted.
4) The refractive index of the first medium is greater than the second one.
19- What does fiber optics utilize?
1) The refractive index
2) The critical angle
3) Total internal reflection
4) A phase change greater than 180°
20- Which of the following is the word “confined” in the last line closest in meaning to?
1) Limited 2) Compiled 3) Linked 4) Contracted

PASSAGE 2:

Scientists believe that stars form when compression waves traveling through clouds of gas
create knots of gas in the clouds. The force of gravity within these denser areas then attracts
gas particles. As the knot grows. the force increases and attracts more gas particles, eventually
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forming a large sphere of compressed gas with internal temperatures reaching a few million
degrees C. At these temperatures. the gases in the knot become so hot that nuclear fusion of
hydrogen to form helium takes place, creating large amounts of nuclear energy and forming a
new star. Pressure from the radiation of these new stars causes more knots to form in the gas
cloud. initiating the process of creating more stars. Scientists theorize that planets form from
gas and dust surrounding voung stars. As the density of the forming star increases. this gas and
dust slowly condenses into a spinning disk. The denser areas ol the disk develop a gravitational
force which attracts more dust and gas as the disk orbits the star. Over millions of years. these
dense arcas consolidate and grow. forming planets. In the case of the Sun. the larger icy
fragments surrounding it attracted more gas and dust forming the more massive planets such as
Jupiter and Saturn. These larger planets developed gravitational forces great enough to attract
hydrogen and helium atoms. turning them into gas giants. The smaller planets. such as Earth.
could not attract these atoms and became mainly rocky.

21- Which of the following planets is NOT mentioned in the passage?
1) Earth 2) Jupiter 3) Saturn 4) Mars
22- Which of the following best represents the organization of the passage?
1) The process of formation of stars
2) The process of formation of planets
3) Formation of stars followed by formation of planets
4) Formation of planets followed by formation of stars
23- Which of the following is the word “initiating” in line 8 closest in meaning to?
1) Starting 2) Modifying 3) Involving 4) Restricting
24- What is the difference between the larger and the smaller planets?
1) The larger planets have rocky surfaces.
2) The larger planets are closer to the sun.
3) The larger planets attracted hydrogen and helium atoms.
4) The larger planets do not have sufficient gravitational forces.
25- What does the pronoun “it" in line 13 refer to?
1) Gas 2) Sun 3) Dust 4) Hydrogen

PASSAGE 3:

German physicist Max Planck, who was awarded the Nobel Prize in 1918. is best remembered
as the originator of the quantum theory. His work helped usher in a new era in theoretical
physics and revolutionized the scientific community’s understanding of atomic and subatomic
processes. Planck introduced an idea that resulted n the quantum theory, which became the
foundation of twentieth century physics. In December 1900. he worked out an equation that
described the distribution of radiation accurately over the range of low to high frequencies.
Planck had developed a theory which depended on a model of matter that seemed very strange
at the time. The model required the emission of electromagnetic radiation in small chunks or
particles. These particles were later called quantums. The energy associated with each quantum
is measured by multiplying the frequency of the radiation. v, by a universal constant, s. Thus,
energy (F) equals Av. The constant / is known as Planck’s constant. It is now recognized as
one of the fundamental constants of the world.

Planck announced his findings in 1900, but it was years before the [ull consequences of his
revolutionary quantum theory were recognized. Throughout his life. Planck made significant
contributions to optics, thermodynamics and statistical mechanics, physical chemistry, and
other fields. In 1930 he was elected president of the Kaiser Wilhelm Society, which was
renamed the Max Planck Society after World War 11, Though deeply opposed to the fascist
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regime of Adolf Hitler, Planck remained in Germany throughout the war. He died in Gottingen
on October 4, 1947,

26- What is the passage mainly about?
1) Max Planck’s constant
2y Max Planck’s main scientific achievements
3) Brilliant ideas in World War 11
4) The evolution of the quantum theory
27- What are the particles of electromagnetic radiation emitted by matter known as?

1) Quantums 2) Atoms 3) Electrons 4) Valences
28- In which of the following fields did Max Planck NOT make a significant contribution
to?
1) Optics 2) Thermodynamics
3) Statistical mechanics 4) Biology
29- Which of the following is the word “universal™ in line 10 closest in meaning to?
1) Planetary 2) Always present  3) Worldly 4) Cosmic

30- Which of the following can be inferred about Max Planck?
1) He was a patriot and loved his country.
2) He received the Nobel Prize at the turn of the twentieth century.
3) His main findings were published afier his death.
4) He established the Kaiser Wilhelm Society.
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